113-1 B REHZENEBRBE(—FR)

DT AR JRE SR " B R
ZE— F'.‘f\ 16 ERoZ 1
HZT"TJZ /L,\ 35 %OZK 1
T — 09 MRozk 2
M — R 31 &l o 2 3
M —= 14 Molx 1
M —= 28 =03 2
ff%%frmz—% 15 o2 3
REE— 26 Fe o [ 1
/‘b$ /l_,\ 34 %O 2
/‘LE % 31 EBO'T: 1
Eill— 27 15ols 1
Bil— 23 BER o 6K 2
_H*ﬂ /l_,\ 14 350% 3
E 25 feRo & 1
Bl —=F 17 Eort 2
E 10 = 3
%ﬁi?—fﬁ 05 SoX 1
Bf— 19 fEoRR 2
EE'% /l_:\ 26 %O% 3
2R — R 07 o7 1
12— R 09 N 2
YR — FE\ 04 oZ, 3
EE'*FBZ /l_:\ 03 £O¥ 1
B — 20 HoZE 2
@-éff%%—fﬁ 12 BEoa 3
B —= 20 P ofh 1
B —= 19 B o152 2
Bk — % 24 PR o 2K 3
/7/% /l_:\ 32 mO;ﬂj 1
RR—ZF 26 =oft 1
RR—ZF 21 Rog 2
2R % 25 = OEY 3
§\_7I< /l_:\ 28 %O;‘g\' 1
L?f—t—ﬁﬁ 32 FHo> 2
EE—1R 17 otk 3




113-1 F_REHEZEEREBEBRE(—FR)

hE AR JRE 5 e Z R
EE—F 05 sLok& 1
jEE—= 14 Hofs 2
R —= 32 i ofB 3
e ll—5 30 Blol= 1
EL—= 28 e 2
(lEIC—58 11 Bl offd 3
EL—= 16 sEoEf 1
{EL—= 04 Y% 2
{EL—= 22 BoTT 3
EE—F 01 Hoz 1
BE—R 03 ST o8 2
FEE—R 09 Mot 3
=T —=& 18 Sfoty 1
1 —8 20 FoE o i 2
2T —R 12 RoEx 3
R¥E— & 03 &0 TK 1
AR — R 02 Bloxs= 2
R¥E— & 01 5E o) 3




